# on bifurcation and stability of permanent rotations of a heavy solid body whose center of mass is close to the principal plane OF ITS ELLIPSOID OF INERTIA* 

V.N. RUBANOVSKII

(This is the second part of the author's report on "Stability of steady motions of mechanical systems containing absolutely rigid, elastic, and fluid components" at the 5-th All-Union Congress on Theoretical and Applied Mechanics, Alma-Ata, 27 May 1981).

All possible qualitatively different types of bifurcation diagrams for bodies whose center of mass is close to the principal planes of their triaxial ellipsoids of inertia are classified, and the most interesting of such diagrams are presented.
Stability of permanent rotations of a heavy solid body was investigated in /i/ using Chetaev's method for constructing Liapunov functions $/ 2 /$, and some of the domains corresponding to stable and unstable rotations were indicated on the Staude cone. The widest sufficient conditions of permanent rotation stability were derived in $/ 3 /$ on the basis of the RouthLiapunov theorem /4/. The bifurcation and stability of permanent rotations were investigated in /5-7/ in the case of a body whose center of mass lies on the principal axis of its triaxial ellipsoid of inertia and, also, in the case when the ellipsoidof inertia is an ellipsoid of revolution.

1. The equations of motion of a heavy solid body about a fixed point $O$ admit the following energy and area integrals:

$$
U=\frac{1}{2} \sum_{i=1}^{3}\left(J_{i} \omega_{i}^{2}+2 e_{i} \gamma_{i}\right)=\text { const, } \quad U_{1}=\sum_{i=1}^{3} J_{i} \omega_{i} \gamma_{i}=k=\text { const }
$$

where $\omega_{i}$ are projections of the body angular velocity on the principal axes $x_{i}$ of its ellipsoid on inertia relative to point $O, J_{i}\left(J_{1}<J_{2}<J_{3}\right)$ are the principal moments of inertia of the body, $\gamma_{i}$ are cosines of angles between the upward vertical and axes $x_{i}$ with $U_{2}=\gamma_{1}{ }^{2}+$ $\gamma_{2}{ }^{2}+\gamma_{3}{ }^{2}=1$, and $e_{i}$ are constants equal to the products of the body weight by the coordinates of its center of mass.

The values of $\omega_{i}, \gamma_{i}$ for which $U$ has fixed values under conditions $U_{1}=k, U_{2}=1$, correspond to permanent rotations and are defined by formulas $/ 5-7 /$

$$
\begin{equation*}
\omega_{1}=\omega \gamma_{1}, \quad \gamma_{1}=\frac{e_{1}}{\omega^{2}\left(J_{1}-\lambda\right)} \quad(123) \quad(\lambda \text { is a parameter }) \tag{1.1}
\end{equation*}
$$

with the dependence of the angular velocity $\omega$ of permanent rotation on parameter $k$ determined by formulas

$$
\begin{equation*}
\omega= \pm\left(\sum_{(123)} \frac{e_{1}^{2}}{\left(J_{1}-\lambda\right)^{2}}\right)^{1 / 4}, \quad k= \pm\left(\sum_{(123)} \frac{e_{1}^{2}}{\left(J_{1}-\bar{\lambda}\right)^{2}}\right)^{-0 / 4} \sum_{(123)} \frac{J_{1} e_{1}^{2}}{\left(J_{1}-\lambda\right)^{2}} \tag{1.2}
\end{equation*}
$$

The sufficient conditions of stability of motion (1.1) relative to $\omega_{1}, \gamma_{i}$ reduce to the inequalities /3,5-7/

$$
\begin{align*}
& L>0, \quad \Delta=\omega^{2}(4 L+J S)>0  \tag{1.3}\\
& L=\sum_{(123)}\left(\lambda-J_{1}\right)\left(J_{2}-J_{3}\right)^{2} \gamma_{2}^{2} \gamma_{3}^{2}, \quad S=\sum_{(123)}\left(\lambda-J_{2}\right)\left(\lambda-J_{3}\right) \gamma_{1}^{2}, \quad J=\sum_{(123)} J_{1 ; 1}{ }^{2}
\end{align*}
$$

The equation $L(\lambda)=0$ has a single real root $/ 7 / \lambda=\lambda^{\circ}$, and $J_{1} \leqslant \lambda^{\circ} \leqslant J_{2}$, when ( $J_{2}$ $\left.J_{1}\right) e_{3}{ }^{2}>\left(J_{3}-J_{2}\right) e_{1}{ }^{2}$, while $J_{2} \leqslant \lambda^{\circ} \leqslant J_{3}$ when $\left(J_{2}-J_{1}\right) e_{3}{ }^{2}<\left(J_{3}-J_{2}\right) e_{1}{ }^{2}$, and $\operatorname{sgn} L(\lambda)=\operatorname{sgn}\left(\lambda-\lambda^{\circ}\right)$.

When conditions (1.3) are satisfied, motion (1.1) is stable, and its instability degree $\chi=0$. Condition $\Delta>0$ is also the necessary stability condition $/ 7 /$; motions (1. l) for which $\Delta<0$, are unstable, and for them $\chi=1$. If conditions (1. 3) are not satisfied and $\Delta>0$, then $\chi=2$.

Motions (1.1) can be geometrically represented by points of curve $k=k(\lambda)$ which is determined by the second of Eqs. (1.2).

[^0]The formula (1.3) for $\Delta$ can be represented in the form $/ 5-7 /$

$$
\Delta=2 \omega \varphi(\lambda) d k / d \lambda, \quad \varphi(\lambda)=\left(J_{1}-\lambda\right)\left(J_{2}-\lambda\right)\left(J_{3}-\lambda\right)
$$

11.     + :
which enables us to reduce the analysis of the sign of $\Delta$ to the determination of the form ot curve $k=k(\lambda)$. Equation $\Delta(\lambda)=0$ is used for determining bifurcation points $/ 5-7 /$ and is equivalent to the equation $d k / d \lambda=0$; at these points the tangent to curve $k=k(\lambda)$ is parallel to the $\lambda$ axis.

Since conditions (1.3) are not affected by the substitution of - $\omega$ for $\omega$, it is possible to restrict the investigation of distribution of steady and unsteady motions (1.1) on curve $k=k(\lambda)$ to the investigation of its branches for which $k>0(\omega>0)$.

The form of curve $k=k(\lambda)$ and the degree of instability distribution $\%=0,1,2$ on at for $4 J_{1} \geqslant 3 J_{3}, e_{1} e_{2} e_{3} \neq 0$ appear in $/ 7 /$.

Equation $d k / d \lambda=0$ is equivalent to the equation

$$
\begin{gather*}
P_{10}(\lambda)=\sum_{(123)}\left\{J_{1}\left(J_{2}-\lambda\right)^{5}\left(J_{3}-\lambda\right)^{5} e_{1}^{4}+\varphi^{2}(\lambda)\left(J_{1}-\lambda\right)^{3}\left[\left(4 J_{2}-\right.\right.\right.  \tag{1.5}\\
\left.\left.\left.3 J_{3}\right)\left(J_{3}-\lambda\right)+\left(4 J_{3}-3 J_{2}\right)\left(J_{2}-\lambda\right)\right] e_{2}^{2} e_{3}^{2}\right]=0
\end{gather*}
$$

The problem of separating real roots of Eq. (1.5) is generally difficult, since known methods of analysis $/ 8 /$, for instance, the device of Sturm series or the Routh algorithm require the determination of the number of sign changes of fairly unwieldy expressions in (1.5), which depend on many parameters. If the body center of mass lies in the principal plane of its ellipsoid of inertia, Eq. (1.5) is considerably simplified and the problem of separating real roots can be completely solved. When that problem is solved, it is possible to draw definite conclusions on the bifurcations of motions (1.1), when the body center of mass is close to the principal plane of the ellipsoid of inertia.
2. Let $e_{1} e_{2} \neq 0, e_{3}=0$, then (1.1) and (1.2) assume the form

$$
\begin{gather*}
\omega_{i}=(\omega) \gamma_{i}, \quad \omega^{2} \gamma_{j}=e_{j}\left(J_{j}-\lambda\right)^{-1}, \quad \omega^{2} \gamma_{3}=x \delta\left(\hat{\lambda}-J_{3}\right), \quad(\imath=1.2,3: j=1,2)  \tag{2.1}\\
\omega^{4}=x^{2} \delta\left(\lambda-J_{3}\right) \cdot \sum_{j} \frac{e_{j}^{2}}{\left(J_{j}-\hat{\lambda}\right)^{2}} \\
k=k(\lambda, x)=\left[J_{3} x^{2} \delta\left(\lambda-J_{3}\right)+\sum_{j} \frac{J_{j} j_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}}\right] \times\left[x^{2} \delta\left(\lambda-J_{3}\right)+\sum_{j} \frac{e_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}}\right]^{-1 /}
\end{gather*}
$$

where $\delta(x)=0$ when $x \neq 0, \delta(0)=1$, and $x$ is a variable real parameter.
Motion (2.1) can be geometrically represented/5/ in the space of parameters $k, \lambda, x$ by points of manifold $k=k(\lambda, x)$ consisting of a cylindrical surface $k=k(\lambda, 0)$ and curve $k=$ $k\left(J_{3}, x\right), \lambda=J_{3}$ which have one common point $x=0, \lambda=J_{3}, k=k\left(J_{3}, 0\right)$. Since one and only one motion (2.1) corresponds to each generatrix of the cylindrical surface, we juxtapose to these generatrices points of their intersection with plane $x=0$. To represent motions (2.1) we introduce in the analysis curve $\Gamma$ whose branches lie in planes $x=0$ and $\lambda=J_{3}$ and are defined by equations $k=k(\lambda, 0), x=0$ and $k=k\left(J_{3}, x\right), \lambda=J_{3}$, respectively.

To investigate curve $k=k(\lambda, 0), x=0$ we use the equation $\partial k / \partial \lambda=0$ which is equivalent to equation

$$
\begin{align*}
& P_{10}(\lambda)=\left(J_{3}-\lambda\right)^{5} P_{5}(\lambda)  \tag{2.2}\\
& P_{5}(\lambda)=J_{1}\left(J_{2}-\lambda\right)^{5} e_{1}{ }^{4}+J_{2}\left(J_{1}-\lambda\right)^{5} e_{2}{ }^{4}+\left[( 4 J _ { 1 } - 3 J _ { 2 } ) \left(J_{2}-\right.\right. \\
& \left.\quad \lambda)+\left(4 J_{2}-3 J_{1}\right)\left(J_{1}-\lambda\right)\right]\left(J_{1}-\lambda\right)^{2}\left(J_{2}-\lambda\right)^{2} e_{1}{ }^{2} e_{2}{ }^{2}
\end{align*}
$$

whose root $\lambda=J_{3}$ is of multiplicity 5 . To investigate the roots of polynomial $P_{5}(\lambda)$ we substitute the new variable $z$ for $\lambda$ and introduce the notation

$$
\begin{equation*}
z=\frac{J_{1}-\lambda}{J_{2}-\lambda}, \quad a=\frac{J_{1}}{J_{2}}, \quad b=\frac{J_{3}}{J_{2}}, \quad e=\frac{e_{1}}{e_{2}} \tag{2.3}
\end{equation*}
$$

then $P_{5}(\lambda)$ reduces to the form

$$
\begin{equation*}
P_{5}(\lambda) \equiv P(\lambda)=z^{5}-e^{2} z^{2} \Phi(z)+a e^{4}=0, \quad \Phi(z)=(3 a-4) z+3-4 a \tag{2.4}
\end{equation*}
$$

3. Consider the problem of separating real roots of Eq. (2.4). By the Descartes theorem Eq. (2.4) has one real root $x_{1}<0$ when $a \geqslant 3 / 4$; if $a<3 / 4$, (2.4) has one negative root $z_{1}$ and two or none positive roots $z_{2}, z_{3}\left(z_{3} \geqslant z_{2}\right)$. Hence we assume in what follows that $a<3 / 4$.

We introduce the two-valued function $e^{2}=F(z)$ defined by Eq. (2.4). For branches $e^{2}=F^{( \pm)}(i)$ of that function we have

$$
F^{( \pm)}(z)=\frac{z^{2}}{2 a}\left[\Phi(z) \pm \sqrt{\Phi{ }^{2}(z)-4 a z}\right]
$$

Function $e^{2}=F(z)$ has real values only when $\Phi^{2}(z) \geqslant 4 a z$. If it is not to assume negative values it is necessary that the following condition is satisfied:

$$
z \leqslant z_{*}, \quad z_{*}=(3-4 a)(4-3 a)^{-1} \quad(a<3 / 4)
$$

We denote the roots of equation $\Phi^{2}(z)-4 a z=0$ by $z_{1 *}$ and $z_{z_{*}}\left(z_{1 *}<z_{z_{*}}\right)$. We have an array of inequalities $0<z_{1 *}<z_{*}<z_{2 *}$. This implies that function $e^{2}=F(z)$ assumes real values and is nonnegative only for $0 \leqslant z \leqslant z_{1 *}$, while for $z<0$ the branch $e^{2}=F^{(+)}(z)$ assumes only positive and branch $e^{2}=F^{(-)}(z)$ only negative values. The form of curve $e^{2}=F(z)$ is shown in Fig. 1 , where only branches that do not assume negative values are plotted.

From this we draw the conclusion that for each value of $a(a<3 / 4)$ Eq. (2.4) has three real roots, viz. $z_{1}, z_{2}, z_{3}\left(z_{1}<0<z_{2} \leqslant z_{3}\right)$, if $0<e^{2} \leqslant F\left(z_{1}\right)$, and the equality $z_{2}=z_{3}$ holds only when $e^{2}=$ $F\left(z_{1 *}\right)$; if $e^{2}>F\left(z_{1 *}\right)$, then (2.4) has one real root $z_{1}<0$.

Let us take some number $z_{0}>0$ and assume that $z_{1 *}<z_{0}$, then (Fig.1) Eq. (2.4) with $0<e^{2} \leqslant$ $F\left(z_{i *}\right)$ has three real roots: $z_{1}, z_{2}, z_{3}\left(z_{1}<0<z_{2}<z_{3} \leqslant z_{1 *}<z_{0}\right)$, and the equality $z_{3}=z_{1 *}$ holds only for $e^{2}=F\left(z_{1 *}\right)$, and when $z_{2}=z_{3}=z_{1 *}$; if howcver $e^{2}>F\left(z_{1 *}\right)$, then (2.4) has one real root $z_{1}<0$.

If now $z_{1 *}>z_{0}$, then Eq. (2.4) for $0<e^{2} \leqslant F\left(z_{1 *}\right)$ has three real roots: $z_{1}, z_{2}, z_{3}\left(z_{1}<0<z_{2} \leqslant z_{3}\right)$, and (Fig.l)

$$
\begin{array}{ll}
z_{2}<z_{3}<z_{0}<z_{1 *}, & 0<e^{3}<F^{(-)}\left(z_{0}\right) \\
z_{2}<z_{3}=z_{0}<z_{1 *}, & e^{2}=F^{(-)}\left(z_{0}\right) \\
z_{2}<z_{0}<z_{3}<z_{1 *}, & F^{(-)}\left(z_{0}\right)<e^{2}<F^{(+)}\left(z_{0}\right) \\
z_{2}=z_{0}<z_{3}<z_{1 *}, & e^{2}=F^{(+)}\left(z_{0}\right) \\
z_{0}<z_{3}<z_{3}<z_{1 *}, & F^{(+)}\left(z_{0}\right)<e^{3}<F\left(z_{1 *}\right) \\
z_{0}<z_{2}=z_{3}=z_{1 *}, & e^{3}=F\left(z_{1 *}\right)
\end{array}
$$

if however $e^{2}>\boldsymbol{F}\left(z_{1 *}\right)$, then (2.4) has one real root $z_{1}<0$.
4. Consider the question of the number and disposition of real roots of the polynomial $P_{5}(\lambda)$. We denote by $\lambda_{i}(i=1,2,3)$ the values of $\lambda$ which by virtue of (2.3) correspond to values $z_{i}$ and set $z_{0}=\left(J_{1}-J_{3}\right)\left(J_{2}-J_{3}\right)^{-1}=(a-b)(1-b)^{-1}>1$. On the basis of the analysis in sect. 3 we conclude then that for $a<3 / 4$

$$
\begin{align*}
& 1^{\circ} . \lambda_{3}<\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, \quad 0<e^{2}<F\left(z_{1 *}\right)  \tag{4.1}\\
& 2^{\circ} . \lambda_{3}=\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, \quad e^{2}=F\left(z_{1 *}\right) \\
& 3^{\circ} . J_{1}<\lambda_{1}<J_{2}, \quad e^{2}>F\left(z_{1 *}\right)
\end{align*}
$$

For $a \geqslant 3 / 4$ the polynomial $P_{5}(\lambda)$ has one real root $\lambda_{1}, J_{1}<\lambda_{1}<J_{2}$.
Investigation of stability of


Fig. 1


Fig. 2
motions (2.1) in the cases (4.1) does not present difficulties and is carried out as in /5-7/.

Projections of curve $\Gamma$ on the plane $x=0$ are shown in Fig. 2 (solid lines) for case $1^{\circ}$ in (4.1); the rectilinear branch for $\lambda=J_{3}$ represents there the projection on plane $x=0$ of the branch $k=k\left(J_{3}\right.$, $x), \lambda \rightarrow J_{3}$ of curve $\Gamma$, and the numerals $0,1,2$ indicate the instability degree of respective motions. In case $2^{\circ}$ the respective curve differs from that in Fig. 2 only in that it has an inflection point when $\lambda .-\lambda_{2}$ at which the instability degree remains unchanged, and in case $3^{\circ}$ that curve increases strictly monotonically when $\lambda<J_{1}$. The form of branch $k=k\left(J_{3}, x\right), \lambda=J_{3}$ for all cases of (4.1) is the same as in /7/.
5. Let now the center of mass lie close to the plane $x_{3}=0$. Then $e_{3}$ is a small quantity. Introducing in addition to (2.3) the notation

$$
x=\left(J_{3}-\lambda\right)\left(J_{2}-\lambda\right)^{-1}, \quad z=z(x)=[a-b+(1-a) x](1-b)^{-1}, \quad ;=\rho_{3^{\prime}}, \quad, \quad \therefore 1
$$

we represent Eq. (1.5) in the form

$$
\begin{gather*}
G(x, \varepsilon)=x^{5} P_{5}(z)-\varepsilon^{2} x^{2} z^{2}\left\{\left[(3 b-4) z^{3}+(3 b-4 a) e^{2}\right] x+z R(z)\right\}+\varepsilon^{4} b z^{5}=0  \tag{15.2}\\
R(z)=(3-4 b) z^{2}+(3 a-4 b) e^{2} \tag{5.3}
\end{gather*}
$$

Equation (5.2) defines $x$ as an implicit function of parameter $\varepsilon$. For $\varepsilon=0$ it has the root $x=0$ of multiplicity five. For finding real branches of $x=x(\varepsilon)$ we use the Newton diagram in $/ 9 /$. We shall seek $x=x(\varepsilon)$ of the form

$$
\begin{equation*}
x=c \varepsilon^{n}+c^{\prime} \varepsilon^{n+1}+\ldots \tag{5.4}
\end{equation*}
$$

Substituting (5.4) into (5.2) and taking into account (5.1), we equate the totality of lower order terms to zero and obtain the relation

$$
\varepsilon^{5 n} c^{5} P_{5}\left(z_{0}\right)-\varepsilon^{2 n+2} c^{2} z_{0}^{3} R\left(z_{0}\right)+\varepsilon^{4} b z_{0}^{5}=0, \quad z_{0}=\frac{b-a}{b-1}(>1)
$$

from which we have

$$
\begin{equation*}
\text { a) } n=\frac{2}{3}, \quad c^{3}=\frac{z_{0}{ }^{3} R\left(z_{0}\right)}{P_{5}\left(z_{0}\right)} ; \quad \text { b) } n=1, \quad c^{2}=\frac{b z_{0}{ }^{2}}{R\left(z_{0}\right)} \tag{5.5}
\end{equation*}
$$

Consider case $1^{\circ}$ of (4.1) in which $R\left(z_{0}\right)<0, P_{5}\left(z_{0}\right)>0$. On the basis of (5.5) we conclude that Eq. (5.2) in the neighborhood of $x=0, \varepsilon=0$ defines one real branch $x=x^{*}(\varepsilon)<0$, $x^{*}(\varepsilon) \rightarrow 0$, as $\varepsilon \rightarrow 0$. The value $\lambda=\lambda^{*}(\varepsilon), J_{2}<\lambda^{*}(\varepsilon)<J_{3}, \lambda^{*}(\varepsilon) \rightarrow J_{3}$ corresponds by virtue of (5.1) to $x=x^{*}(\varepsilon)$, as $\varepsilon \rightarrow 0$. Curve $k=k(\lambda)$ is shown in Fig. 2 (the dash lines relate $\lambda$, $J_{2}$ ) for small $e_{3} \neq 0$ for case $1 \circ$ of (4.1).
6. If now $e_{3} e_{1} \neq 0, e_{2}=0$, then relations (1.1) and (1.2) assume the form

$$
\begin{align*}
& \omega_{i}=\omega \gamma_{i}, \quad \omega^{2} \gamma_{j}=e,\left(J_{j}-\lambda\right)^{-1}, \quad \omega^{2} \gamma_{2}=x \delta\left(\lambda-J_{2}\right) \quad(i=1,2,3 ; \quad j=1,3)  \tag{6.1}\\
& \omega^{4}=\gamma^{2} \delta\left(\lambda-J_{2}\right)+\sum_{j} \frac{e_{j}^{2}}{(J,-\lambda)^{2}} \\
& k=k(\lambda, x)=\left[J_{2} x^{2} \delta\left(\lambda-J_{2}\right)+\sum_{j} \frac{J_{j} e_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}}\right] \times\left[x^{\left.2 \delta\left(\lambda-J_{2}\right)+\sum_{j} \frac{e_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}}\right]^{-3 / 4}}\right.
\end{align*}
$$

For motions (6.1) the branches of curve $\Gamma$ are defined by the equations $k=k(\lambda, 0), \cdots, \cdots$ and $k=h\left(J_{2}, x\right), \lambda=J_{2}$.

Let us investigate the form of curve $k=k(\lambda, 0), x=0$. The equation $\partial k / \partial \lambda=0$ is equivalent to the equation of form (2.2) in which we have now

$$
\begin{align*}
& P_{5}(\lambda)=J_{3}\left(J_{1}-\lambda\right)^{5} e_{3}^{4}+J_{1}\left(J_{3}-\lambda\right)^{5} e_{1}^{4}+\left[\left(4 J_{3}-3 J_{1}\right)\left(J_{1}-\lambda\right)+\right.  \tag{6.2}\\
& \left.\quad\left(4 J_{1}-3 J_{3}\right)\left(J_{3}-\lambda\right)\right]^{2}\left(J_{3}-\lambda\right)^{2}\left(J_{1}-\lambda\right)^{2} e_{3}{ }^{2} e_{1}^{2}
\end{align*}
$$

Introducing the notation

$$
\begin{equation*}
z=\frac{J_{1}-\lambda}{J_{3}-\lambda}, \quad x=\frac{J_{2}-\lambda}{J_{3}-\lambda}, \quad a=\frac{J_{1}}{J_{3}}, \quad b=\frac{J_{2}}{J_{3}}, \quad e=\frac{e_{1}}{e_{3}}, \quad \varepsilon=\frac{e_{2}}{e_{3}}(a<b<1) \tag{6.3}
\end{equation*}
$$

we reduce equation $P_{5}(\lambda)=0$ to the form (2.4). Setting as in the capacity of $z_{0}$ the value $z_{0}=\left(J_{1}-J_{2}\right)\left(J_{3}-J_{2}\right)^{-1}=(a-b)(1-b)^{-1}<0$ and using the results of sect. 3 , we conclude that the number and disposition of real roots of polynomial (6.2) with $a<3 / 4$ are:

$$
\begin{array}{ll}
I^{c} . \lambda_{3}<\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, & 0<e^{2}<F^{(+)}\left(z_{0}\right)<F\left(z_{1 *}\right)  \tag{6.4}\\
2^{c} . \lambda_{3}<\lambda_{2}<J_{1}<\lambda_{1}=J_{2}, & e^{2}=F^{(+)}\left(z_{0}\right)<F\left(z_{1 *}\right) \\
3^{.} . \lambda_{3}<\lambda_{2}<J_{1}<J_{2}<\lambda_{1}<J_{3}, & F^{(+)}\left(z_{0}\right)<e^{2}<F\left(z_{1 *}\right) \\
4^{\circ} . \lambda_{3}=\lambda_{2}<J_{1}<J_{2}<\lambda_{1}<J_{3}, & F^{(+)}\left(z_{0}\right)<e^{2}=F\left(z_{1 *}\right) \\
5^{\circ} . J_{2}<\lambda_{1}<J_{3}, & F^{(+)}\left(z_{0}\right)<F\left(z_{z_{*}}\right)<e^{2} \\
6^{\circ} . \lambda_{3}<\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, & 0<e^{2}<F^{(+)}\left(z_{0}\right)=F\left(z_{1 *}\right) \\
7^{\circ} . \lambda_{3}=\lambda_{2}<J_{1}<\lambda_{1}=J_{2}, & e^{2}=F^{(+)}\left(z_{0}\right)=F\left(z_{1 *}\right) \\
8^{c} . J_{2}<\lambda_{1}<J_{3}, & e^{2}>F^{(+)}\left(z_{0}\right)=F\left(z_{1_{*}}\right) \\
9^{\circ} . \lambda_{3}<\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, & 0<e^{2}<F\left(z_{1 *}\right)<F^{(+)}\left(z_{0}\right) \\
10^{\circ} . \lambda_{3}=\lambda_{2}<J_{1}<\lambda_{1}<J_{2}, & e^{2}=F\left(z_{1 *}\right)<F^{(+)}\left(z_{0}\right) \\
11^{\circ} . J_{1}<\lambda_{1}<J_{2}, & F\left(z_{\left.1_{*}\right)}, e^{2}<F^{(+)}\left(z_{0}\right)\right. \\
12^{\circ} . \lambda_{1}=J_{2}, & F\left(z_{1 *}\right)<e^{2}=F^{(+)}\left(z_{0}\right)
\end{array}
$$

$$
\begin{array}{ll}
13^{\circ} . J_{3}<\lambda_{1}<J_{3}, & e^{2}>F^{(+)}\left(z_{0}\right)>F\left(z_{1 *}\right) \\
\text { for } a \geqslant 3 / 4 & 0<e^{2}<F^{(+)}\left(z_{0}\right) \\
14^{\circ} . J_{1}<\lambda_{1}<J_{2}, & e^{2}=F^{(+)}\left(z_{0}\right) \\
15^{\circ} \cdot \lambda_{1}=J_{2}, & e^{a}>F^{(+)}\left(z_{0}\right) \\
16^{\circ} . J_{3}<\lambda_{1}<J_{3}, &
\end{array}
$$

Solid lines in Fig. 3 show the form of projections of curve $\Gamma$ on the plane $x=0$ for cases $1^{\circ}, 6^{\circ}, 9^{\circ}$ of (6.4). The respective curve for case $10^{\circ}$ has an inflection point when $\lambda=\lambda_{2}$. curves for cases $5^{\circ}, 8^{\circ}, 11^{\circ}-16^{\circ}$ are given in $/ 7 /$. For all cases of (6.4) the form of curve $k=k\left(J_{2}, x\right), \lambda=J_{2}$ is the same as in $/ 7 /$.


Fig. 3


Fig. 4

Let now the center of mass lie close to the plane $x_{2}=0$. Then $e_{2}$ is a small quantity, and Eq. (1.5) with notation (6.3) can be represented in the form (5.2), where now $z=[a-b+(1-a) x](1-b)^{-1}$.

We represent formula (5.3) for $z=z_{0}$ in the form

$$
\begin{equation*}
R\left(z_{0}\right)=(4 b-3 a)\left(K\left(z_{0}\right)-e^{2}\right), \quad K\left(z_{0}\right)=z_{0}^{2}(3-4 b)(4 b-3 a)^{-1} \tag{6.5}
\end{equation*}
$$

The following inequality holds:

$$
\begin{equation*}
F^{(+)}\left(z_{0}\right)>K\left(z_{0}\right) \quad(0<a<3 / 4) \tag{6,6}
\end{equation*}
$$

To establish the form of curve $k=k(\lambda)$ we use the results of Sects. 3 and 4 , and formulas (5.3)-(5.5), (6.5) and (6.6).

For small $\varepsilon$ we have in cases $1^{\circ}$ and $6^{\circ}$ of (6.4) $R\left(z_{n}\right)>0, P_{5}\left(z_{0}\right)<0$, when $0<e^{2}<K\left(z_{0}\right)$ (Fig. 4), and $R\left(z_{0}\right)<0, p_{5}\left(z_{0}\right)<0$ when $K\left(z_{0}\right)<e^{2}<F^{(+)}\left(z_{0}\right)$ (dash lines in Fig. 3 relate to $J_{1}<\lambda<J_{3}$ ). For case $9^{\circ}$ we have $R\left(z_{0}\right)>0, P_{5}\left(z_{0}\right)<0$ when $0<e^{2}<K\left(z_{0}\right)<F\left(z_{1 *}\right)$ (Fig. 4), and $R\left(z_{0}\right)<0, p_{5}\left(z_{0}\right)<0$ when $K\left(z_{0}\right)<e^{2}<F\left(z_{1 *}\right) \quad$ (dash lines in $F i g .3$ relate to $J_{1}<\lambda<J_{3}$ ).

Let us investigate the stability of motions (1.1), when $\varepsilon=e_{2} / e_{3}$ is a small parameter and conditions $1^{0}$ of (6.4) and also the supplementary condition $0<e^{2}<K\left(z_{0}\right)$, under which curve $k=k(\lambda)$ is of the form shown in Fig.4, are satisfied.

We denote by $\lambda_{v}{ }^{*}(\varepsilon)(v=1, \ldots, 6)$ the real roots of Eq. (1.5) and, using the results of Sect. 3 and formulas (5.3)-(5.5) we obtain for them the following expressions:

$$
\begin{align*}
& \lambda_{i}^{*}(\varepsilon)=\lambda_{i}+o(\varepsilon) \quad(i=1,2,3)  \tag{6.7}\\
& \lambda_{4}^{*}(\varepsilon)=J_{2}+\left(J_{3}-J_{2}\right)\left|z_{0}\right|\left[\frac{R\left(z_{0}\right)}{P_{5}\left(-\left|z_{0}\right|\right)}\right]^{1 / 2} \varepsilon^{1 / 2}+o\left(\varepsilon^{* / 2}\right) \\
& \lambda_{5, b}^{*}(\cdot)=J_{2} \mp\left(J_{3}-J_{2}\right)\left|z_{0}\right|\left[\left.\frac{b}{R\left(z_{0}\right)}\right|^{1 / 2} \varepsilon+o(\varepsilon)\right. \\
& \lambda_{3}^{*}(\varepsilon)<\lambda_{2}^{*}(\varepsilon)<J_{1}<\lambda_{1}{ }^{*}(\varepsilon)<\lambda_{4}{ }^{*}(\varepsilon)<\lambda_{5}^{*}(\varepsilon)<J_{2}<\lambda_{6}^{*}(\varepsilon)<J_{1}
\end{align*}
$$

We shall now consider the equation $L(\lambda)=0$, which with allowance for (6.3) we represent in the form

$$
\begin{equation*}
Q(x, \varepsilon)=(1-a)^{2} e^{3} x^{3}+\varepsilon^{2}\left[(1-b)^{2} z^{3}+(a-b)^{2} e^{2}\right]=0 \tag{6.8}
\end{equation*}
$$

which for $\varepsilon=0$ has the triple root $x=0$. In the case of small $\varepsilon$ we seek a real root of Eq. (6.8) of the form

$$
\begin{equation*}
x=x^{o}(\varepsilon)=\alpha \varepsilon^{n}+o\left(\varepsilon^{n}\right) \tag{6.9}
\end{equation*}
$$

Substituting (6.9) into (6.8) we obtain

$$
\begin{equation*}
n=\frac{2}{3}, \quad \alpha^{3}=\frac{\left(\left|z_{u}\right|-e^{2}\right)(1-b)^{2} z_{0}^{2}}{(1-a)^{2} e^{3}} \tag{6.10}
\end{equation*}
$$

From (6.9), (6.10), and (6.3) we obtain for the real root $\lambda=\lambda^{\circ}(\varepsilon)$ of the equation $L(\lambda)=$ $u$ the expression

$$
\begin{equation*}
\lambda^{0}(\varepsilon)=J_{2}-\left(J_{3}-J_{2}\right)\left(\left|z_{0}\right|-e^{2}\right)^{1 / 2}\left[\frac{(1-b)\left|z_{0}\right|}{(1-a) e}\right]^{2 / 4} \varepsilon^{2 / 3}+o\left(\varepsilon^{1 / 9}\right) \tag{6.11}
\end{equation*}
$$

We pass to the analysis of stability conditions (1.3). Using formula (1.4) and taking into account the form of curve $k=k(\lambda)$ (Fig.4), we conclude that $\Delta>0$, if $\lambda<\lambda_{3}{ }^{*}$, $\lambda_{2}{ }^{*}<\lambda<J_{1}$, $\lambda_{4}{ }^{*}<\lambda<\lambda_{5}{ }^{*}$ or $\lambda>\lambda_{B^{*}}$. Moreover, it follows from (6.11) that $\lambda^{\circ}(\varepsilon)<J_{2}$, hence $L>0$, if $\lambda>J_{2}$, and $L<0$, if $\lambda<\lambda^{\circ}(\varepsilon)$. Hence motions (1.1) are stable $\chi=0$, if $\lambda>\lambda_{6}{ }^{*}$, and unstable $\chi=1$ if $\lambda_{3}{ }^{*}<\lambda<\lambda_{6}{ }^{*}, \lambda_{1}{ }^{*}<\lambda<\lambda_{5}{ }^{*}$ or $\lambda_{3}{ }^{*}<\lambda<\lambda_{2}{ }^{*}$. If however $\lambda<\lambda_{3}{ }^{*}, \lambda_{2}{ }^{*}<\lambda<J_{1}$ or $J_{1}<\lambda<\lambda_{1}{ }^{*}$ then $\chi=2$.

Remains to investigate the stability of motions (1.1) for $\lambda$ from the interval $\lambda . . \lambda, \ldots$ For that it is sufficient to determine the sign of quantity $L(\lambda)$.

From (6.7) and (6.11) we can see that $\lambda_{4}{ }^{*}(\varepsilon)$ and $\lambda^{\circ}(\varepsilon)$ have the same order of smallness. while $\lambda_{j}^{*}(\varepsilon)$ has a large order of smallness. Therefore $L>0$ for the values of $\lambda$ close to $\lambda_{5}^{*}\left(\lambda<i_{5}^{*}\right)$ and motions (1.1) are stable $\chi=0$. Since in the case of continuous variation sf $\lambda$ from its value at which stability conditions (I.3) are satisfied, first condition 1 , is violated $/ 2 /$, hence we conclude that $\lambda^{\circ}(\varepsilon) \leqslant \lambda_{4}{ }^{*}(\varepsilon)$ and for $\lambda_{4}{ }^{*}<\lambda \ll \lambda_{5}^{*}$ motions ( 1 . 1) arestable $\%=0$.

We would point out that one of the cases whose bifurcation diagram appears in Fig. 4 was investigated in / $10 /$.
7. Finally, let $e_{2} e_{3}=0, e_{1}=0$, then

$$
\begin{align*}
& \omega_{i}=\omega \gamma_{1}, \quad \omega^{2} \gamma_{3}=e_{i}\left(J_{i}-\lambda\right)^{-1}, \quad \omega^{2} \gamma_{1}=x^{\delta}\left(\lambda-J_{1}\right) \quad(\ell=1,2,3 ; \quad j=2,3)  \tag{7.1}\\
& \omega^{4}=\kappa^{2} \delta\left(\lambda-J_{1}\right)+\sum_{j} \frac{e_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}} \\
& k=k(\lambda, \varkappa)=\left[J_{1} x^{2} \delta\left(\lambda-J_{1}\right)+\sum \frac{J_{j} e_{j}^{2}}{\left(J_{j}-\lambda\right)^{2}}\right] \times\left[x^{2} \delta\left(\lambda-J_{1}\right)+\sum_{j} \frac{e_{j}^{2}}{\left(J_{3}-\lambda\right)^{2}}\right]^{-1 / 4}
\end{align*}
$$

In the case of motions (7.1) the branches of curve F are defined by the equations $k=k(\lambda$. 0 ), $x=0$ and $h=k\left(J_{1}, x\right), \lambda=J_{1}$. Let us investigate the form of the first of these curves. The equation $\partial k / \partial \lambda=0$ is equivalent to an equation of the form (2.2) in which now

$$
\begin{align*}
& P_{5}(i)=J_{2}\left(J_{3}-\lambda\right)^{5} e_{2}{ }^{4}+J_{3}\left(J_{3}-\lambda\right)^{5} e_{3}{ }^{4}+\left[\left(4 J_{2}-3 J_{3}\right)\left(J_{3}-\lambda\right)+\right.  \tag{7.2}\\
& \left.\quad\left(4 J_{3}-3 J_{2}\right)\left(J_{2}-\lambda\right)\right]\left(J_{2}-\lambda\right)^{2}\left(J_{3}-\lambda\right)^{2} e_{2}{ }^{2} e_{3}{ }^{2}
\end{align*}
$$

Introducing the notation

$$
\begin{equation*}
==\frac{J_{2}-\lambda}{J_{1}-\lambda}, \quad x=\frac{J_{1}-\lambda}{J_{3}-\lambda}, \quad a=\frac{J_{2}}{J_{3}}, \quad b=\frac{J_{1}}{J_{3}}, \quad e=\frac{e_{2}}{e_{3}}, \quad \varepsilon=\frac{e_{1}}{e_{3}}(b<a<1) \tag{1,3}
\end{equation*}
$$

we reduce equation $P_{5}(\lambda)==0$ to the form (2.4).
We set $z_{0}=\left(J_{2}-J_{1}\right)\left(J_{3}-J_{1}\right)^{-1}=(a-b)(1-b)^{-1}>0$. For $a<3 / 4$ the inequality $z_{i *}(a)<a \quad$ is valid, hence the equation $z_{1}(a)=z_{0}$ has a single real root $b=b_{*}(a), 0<b_{*}(a)<a$, and $z_{1 *}(a)<z_{0}$ when
$b<b_{*}$. and $z_{1 *}(a)>z_{0}$, when $b_{*}<b<a<3 / 4$. From this on the basis of results in Sect. 1 we arrive to the following conclusions about the number and disposition of real roots of polynomial (7.2):

$$
\begin{aligned}
& \text { for } n<{ }^{3} \\
& J_{1}<\lambda_{3}<\lambda_{3}<J_{4}<\lambda_{1}<J_{3}, \quad z_{1_{*}}<z_{0}, \quad 0<e^{3}<F\left(z_{1 *}\right) \\
& \Lambda_{1}<\lambda_{3}=\lambda_{2}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}<z_{0}, \quad e^{2}=F\left(z_{1_{*}}\right) \\
& J_{1}<\lambda_{1}<J_{3} . \quad z_{1_{*}}<z_{0}, \quad \rho_{\cdot}^{2}>F\left(z_{1_{*}}\right) \\
& J_{1}<\hat{\lambda}_{3}<\lambda_{2}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}=z_{b}, \quad 0<e^{3}<F\left(z_{1_{*}}\right) \\
& J_{1}=\lambda_{3}=\lambda_{1}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1 *}=z_{0}, \quad e^{*}=F F\left(z_{1_{*}}\right) \\
& J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}=z_{0}, \quad e^{2}>F\left(\tau_{1_{*}}\right) \\
& \text { ㄷ. } J_{1}<\lambda_{3}<\lambda_{2}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}>z_{0}, \quad 0<e^{2}<F^{(-)}\left(z_{0}\right) \\
& 8^{\circ} . J_{1}=\lambda_{3}<\lambda_{2}<J_{2}<\hat{\Lambda}_{1}<J_{3}, \quad z_{i_{*}}>z_{0}, \quad e^{2}=F^{(-)}\left(z_{0}\right) \\
& 9^{5} . i_{3}<I_{1}<\lambda_{2}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}>x_{0}, \quad F^{(-)}\left(n_{0}\right)<e^{2}<F^{(+)}\left(\sigma_{0}\right) \\
& \text { 10. i. }<\lambda_{1},-J_{1}<J_{2}<\lambda_{1}<J_{3}, \quad i_{1_{*}}>z_{0}, \quad F^{(+)}\left(z_{0}\right)=e: \\
& \text { 11. } i_{2}<\lambda_{2}<J_{1}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}>z_{0}, \quad F^{(+)}\left(z_{0}\right)<e^{2}<F\left(z_{1 *}\right) \\
& \text { 12. } \lambda_{-3}=\lambda_{1}<J_{1}<J_{2}<\lambda_{1}<J_{3}, \quad z_{1_{*}}>z_{0}, \quad \rho_{2}^{2}-F\left(z_{1 *}\right) \\
& \text { 3. } J_{1}<j_{1}<J_{3} . \quad z_{1_{*}}>z_{0}, \quad e^{2}>F\left(z_{1_{*}}\right)
\end{aligned}
$$

and for $a \geqslant 3 / 4 \quad 14 \quad J_{2}<\lambda_{1}<\lambda_{3}$
For motions (7.1) to which correspond points of curve $k=h\left(J_{1}, x\right), \lambda=J_{1}$ we have $L<0$ if $x \neq 0$. and $\Delta$ can be represented in the form

$$
\begin{equation*}
\Delta=2 x \omega\left(J_{1}-J_{1}\right)\left(J_{3}-J_{1}\right) \frac{\partial k}{\partial x}, \quad \frac{\partial k}{\partial x}=\frac{x}{2 \omega^{7}}\left(J_{1} x^{2}-\frac{R_{1}\left(z_{0}\right) e_{3}^{2}}{J_{2}-J_{1}}\right) \tag{7.5}
\end{equation*}
$$

Formula (5.3) for $R\left(z_{0}\right)$ is now of the form

$$
\begin{equation*}
R\left(z_{0}\right)=(4 b-3 a)\left(K\left(z_{0}\right)-e^{2}\right), \quad K\left(z_{0}\right)=z_{0}^{2}(3-4 b)(4 b-3 a)^{-1} \tag{7.6}
\end{equation*}
$$

and the following inequality holds:

$$
\begin{equation*}
F^{(+)}\left(z_{0}\right)<K\left(z_{0}\right) \quad(3 / 4 a<b<a<3 / 4), \quad F\left(z_{1 *}\right)<K\left(z_{0}\right)\left(3 / 4 a<b<b_{*}<a<3 / 4\right) \tag{7.7}
\end{equation*}
$$

Now, using (7.5)-(7.7), (1.3), and (1.4) we can establish the form of curve $\Gamma$ and the distribution along it of the degree of instability of motions (7.1).


Fig. 5

The form of curve $k=k\left(\lambda_{0}, 0\right), \chi_{0}=0$ is shown in Fig. $5, a$ (solid lines) for cases $1^{\circ}, 4^{\circ}, 7^{\circ}$ of (7.4), and in Figs. $5, b$ and $c$ the solid lines relate, respectively, to $9^{\circ}$, and $11^{\circ}$, when $K^{\prime}\left(z_{0}\right)<F\left(z_{1 *}\right)$ and $e^{2}<K_{\left(z_{0}\right)}$, or when $K\left(z_{0}\right)>F\left(z_{14}\right)$.

The form of curve $k=k\left(J_{1}, \not,\right), \lambda=J_{1}$ for all cases of (4.7) appeared in /7/.

Consider the case when the center of mass of the body lies close to the plane $x_{1}=0, e_{1}$ is then a small quantity, and Eq. (1.5) with notation (7.3) can be represented in the form (5.2), where now

$$
z=[a-b+(1-a) x](1-b)^{-1}
$$

Consider the equation $L(i)=0$ which with notation (7.3) can be represented in the form (6.8). For the real root $\lambda=\lambda^{\circ}(\varepsilon)$ of equation $L(\lambda)=0$ we have the formula

$$
\begin{equation*}
\lambda^{c}(\varepsilon)=J_{1}+\left(J_{3}-J_{1}\right)\left[\frac{(1-b)^{2}\left(z_{0}+e^{2}\right) z_{3}^{2}}{(1-a)^{2} e^{2}}\right]^{1 / 2} \varepsilon^{2 / 3}+o\left(\varepsilon^{2 / 3}\right) \tag{7.8}
\end{equation*}
$$

Formulas (5.3)-(5.5), (7.8), (1.3), and (1.4) enable us to draw some conclusions about the form of curve $k=k(\lambda)$ and the distribution along it of the degree of instability of motions (1.1) for all cases of (7.4)for small values of $\varepsilon=e_{1} / e_{3}$.

The form of curve $k=k(\lambda)$ is shown in Fig.5, c (solid lines for $\lambda<J_{2}$ ) for case $11^{\circ}$ of (7.4) when $K\left(z_{0}\right)<F\left(z_{1 *}\right)$ and $e^{2}<K\left(z_{0}\right)$, or when $K\left(z_{0}\right)>F\left(z_{1 *}\right)$. The form of curve $k=k(\lambda)$ for cases $1^{0}, 4^{0}, 7^{\circ}$ is similar to that shown in Fig. 4, except that the width with respect to $\lambda$ of secular stability $(\chi=0)$, which lies
between $\lambda=J_{1}$ and $\lambda=J_{2}$, does not approach zero as $\varepsilon \rightarrow 0$.

## REFERENCES

1. RUMIANTSEV V.V., Stability of permanent rotation of a heavy rigid body. PMM, Vol. 20, No. 1, 1956.
2. Chetaev N. G. , The Stability of Motion. Pergamon Press, Book No. 09505, 1965.
3. KUZ'MIN P.A., Steady motions of a solid body and their stability in a central gravitation field. Tr. Inter-Univ. Conf. on Appl. Theory of Motion Stability and Analytical Mechanics, Kazan', 1964.
4. RUBANOVSKII V.N. and STEPANOV S.Ia., On the Routh theorem and the Chetaev method for constructing the Liapunov function from the integrals of the equations of motion. PMM, Vol. 33, No. 5, 1969.
5. RUBANOVSKII V.N., On the bifurcation and stability of permanent rotations of a heavy solid body with a single fixed point. Dokl. Bulg. Akad. Nauk Vol. 27, No. 5, 1974.
6. RUBANOVSKII V.N., On the bifurcation and stability of permanent rotations of a heavy solid body with a single fixed point. Teoretichna i Prilozhna Mekaniks, Vol.5, No. 2, 1974.
7. RUBANOVSKII V.N., On the bifurcation and stability of steady motions of a system with known first integrals. Problems of Stability Investigation and Motion Stabilization. Collected Papers. Moscow, VTs Akad. Nauk SSSR, No. 1, 1975.
8. GANTMAKHER F.R., The Theory of Matrices. English translation: Chelsea, New York, 1959.
9. CHEBOTAREV N.G. , The Theory of Algebraic Functions. Moscow-Leningrad, OGIZ, 1948.
10. TATARINOV Ia.V., Patterns of classical integrals of the problem of solid body rotation about a fixed point. Vestn. MGU, Matem. Mekhan. No.6, 1974.

[^0]:    *Prikl.Maten. Mekhan. ,Vol. 46, No. 5,pp. 762-770, 1982

